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Worksheet by Kuta Software LLC

Mgr. Vladimír Kázik

KRUHOVÝ VÝSEK - A

Meno:___________________________________

Vypočítaj obsah kruhového výseku:

1)

11 cm

°

A)  51.8 cm² B)  718.8 cm²
C)  285.1 cm² D)  14.4 cm²

2)

13 cm °

A)  20.4 cm² B)  132.7 cm²
C)  17.3 cm² D)  188.5 cm²

3)

15 km

°

A)  39.3 km² B)  294.5 km²
C)  94.2 km² D)  42.5 km²

4)

11 m
°

A)  47.5 m² B)  23.6 m²
C)  8.6 m² D)  25.7 m²

5)

18 km

°

A)  km² B)



km²

C)



km² D)



km²

6)

15 m

°

A)  m² B)



m²

C)  m² D)  m²
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VÝSLEDKY - KRUHOVÝ VÝSEK - A
1)  C 2)  B 3)  B 4)  A
5)  D 6)  B
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